

Please provide a line item for the LOMR that will be done

	PROJECT INFORMATION	
Solace Apartments	11/25/2020	2000-5174.00
Project Name	Date	PCD File No.

		Unit						(with Pre-Plat Constructio		
Description	Quantity	Units		ost			Total	% Complete		Remaining
0" C&G	50	LF	\$	30.00	=	\$	1,500.00		\$	1,500.00
Concerete Paving	109	SY	\$	75.00	=	\$	8,175.00		\$	8,175.00
TORM DRAIN IMPROVEMENTS										
Concrete Box Culvert (M Standard), Size ( W x H )		LF			=	\$	-		\$	-
18" Reinforced Concrete Pipe	93	LF	\$	65.00	=	\$	6,016.27		\$	6,016.27
24" Reinforced Concrete Pipe	41	LF	\$	78.00	=	\$	3,211.26		\$	3,211.26
30" Reinforced Concrete Pipe		LF	\$	97.00	=	\$	-		\$	-
36" Reinforced Concrete Pipe	188	LF		120.00	=	\$	22,603.20		\$	22,603.20
42" Reinforced Concrete Pipe	31	LF	-	160.00	=	\$	4,907.20		\$	4,907.20
48" Reinforced Concrete Pipe		LF		195.00	=	\$	-		\$	-
54" Reinforced Concrete Pipe		LF	\$	245.00	=	\$	-		\$	-
60" Reinforced Concrete Pipe		LF	\$	288.00	=	\$	-		\$	-
66" Reinforced Concrete Pipe		LF	\$	332.00	=	\$	-		\$	-
72" Reinforced Concrete Pipe		LF	\$	380.00	=	\$	-		\$	-
18" Corrugated Steel Pipe		LF	\$	84.00	=	\$	-		\$	-
24" Corrugated Steel Pipe		LF	\$	96.00	=	\$	-		\$	-
30" Corrugated Steel Pipe		LF	\$	122.00	=	\$	-		\$	-
36" Corrugated Steel Pipe		LF	\$	147.00	=	\$	-		\$	-
42" Corrugated Steel Pipe		LF	\$	168.00	=	\$	-		\$	-
48" Corrugated Steel Pipe		LF	\$	178.00	=	\$	-		\$	-
54" Corrugated Steel Pipe		LF	\$	260.00	=	\$	-		\$	-
60" Corrugated Steel Pipe		LF	\$	280.00	=	\$	-		\$	-
66" Corrugated Steel Pipe		LF	\$	340.00	=	\$	-		\$	-
72" Corrugated Steel Pipe		LF	\$	400.00	=	\$	-		\$	-
78" Corrugated Steel Pipe		LF	\$	460.00	=	\$	-		\$	-
84" Corrugated Steel Pipe		LF	\$	550.00	=	\$	-		\$	-
Flared End Section (FES) RCP Size =					=	\$	_		\$	
(unit cost = 6x pipe unit cost)		EA				Φ	<u> </u>		φ	
Flared End Section (FES) CSP Size = (unit cost = 6x pipe unit cost)		EA			=	\$	-		\$	-
End Treatment- Headwall		EA			=	\$			\$	
End Treatment- Wingwall		EA				\$			\$	-
End Treatment - Cutoff Wall		EA			=	\$			\$	
Curb Inlet (Type R) L=5', Depth < 5'	1	EA	\$ 5,	,542.00		\$			\$	
Curb Inlet (Type R) L=5, Depth < 5  Curb Inlet (Type R) L=5', 5' ≤ Depth < 10'	1	EA		,188.00	=	\$	5,542.00 7,188.00		\$	5,542.00
	1	EA		,345.00	=	\$	7,188.00		\$	7,188.00
	1	EA		,627.00	=	_				
Curb Inlet (Type R) L =10', Depth < 5' Curb Inlet (Type R) L =10', 5' ≤ Depth < 10'	1 3	EA		,861.00	=	\$	7,627.00		\$	7,627.00
	3	EA			=	\$	23,583.00		\$	23,583.00
Curb Inlet (Type R) L =10', 10' ≤ Depth < 15'  Curb Inlet (Type R) L =15', Depth < 5'	1	EA		,841.00 ,918.00		_	0.010.00			0.010.00
Curb Inlet (Type R) L =15', Depth < 5' Curb Inlet (Type R) L =15', 5' ≤ Depth < 10'	1	EA		,633.00	=	\$	9,918.00		\$	9,918.00
	1				=	\$	10,633.00		\$	10,633.00
Curb Inlet (Type R) L =15', 10' ≤ Depth < 15' Curb Inlet (Type R) L =20', Depth < 5'		EA		,627.00	=	_	-			-
		EA		,570.00	=	\$	-		\$	-
Curb Inlet (Type R) L =20', 5' ≤ Depth < 10'		EA		,667.00	=	\$	-		\$	-
Grated Inlet (Type C), Depth < 5'		EA	_	,640.00	=	\$	-		\$	-
Grated Inlet (Type D), Depth < 5'		EA		,731.00	=	\$	-		\$	-
Storm Sewer Manhole, Box Base	2	EA	_	,627.00	=	\$	23,254.00		\$	23,254.00
Storm Sewer Manhole, Slab Base		EA		,395.00	=	\$	-		\$	-
Geotextile (Erosion Control)		SY	\$	6.00	=	\$	-		\$	-
Rip Rap, d50 size from 6" to 24"		Tons	\$	80.00	=	\$	-		\$	-
Rip Rap, Grouted		Tons	\$	95.00	=	\$	-		\$	-
Drainage Channel Construction, Size ( W x H )		LF			=	\$	-		\$	-
Drainage Channel Lining, Concrete		CY		570.00	=	\$	-		\$	-
Drainage Channel Lining, Rip Rap		CY		112.00	=	\$	-		\$	-
Drainage Channel Lining, Grass		AC	\$ 1,	,469.00	=	\$	-		\$	-
Drainage Channel Lining, Other Stabilization					=	\$	-		\$	-
					=	\$	-		\$	-
[insert items not listed but part of construction plans]					=	\$	-		\$	-
<ul> <li>Subject to defect warranty financial assurance. A minimum of 20% shall</li> </ul>										

PROJECT INFORMATION							
Solace Apartments	11/25/2020	2000-5174.00					
Project Name	Date	PCD File No.					

				Unit				(with Pre	-Plat	Construction)
Description	Quantity	Units		Cost			Total	% Complete		Remaining
SECTION 3 - COMMON DEVELOPMENT IMPRO	VEMENTS (Pri	vate or Di	istric	t and No	OT Maint	ained	by EPC)**			
ROADWAY IMPROVEMENTS	•									
Aggregate Base Course (135 lbs/cf)	4,967	CY	\$	50.00		\$	248,331.00		\$	248,331.00
Asphalt Pavement (4" thick)	22,350	SY	\$	19.00		\$	424,646.20		\$	424,646.20
Regulatory Sign/Advisory Sign	7	EA	\$	300.00	=	\$	2,100.00		\$	2,100.00
Guide/Street Name Sign	12	EA	\$	300.00	=	\$	3,600.00		\$	3,600.0
Curb and Gutter, Type A (6" Vertical)	8,609	LF	\$	30.00	=	\$	258,281.91		\$	258,281.9
6" Sidewalk	3,655	SY	\$	72.00	=	\$	263,160.72		\$	263,160.7
Pedestrian Ramp	42	EA	\$	1,150.00	=	\$	48,300.00		\$	48,300.0
Concrete Paving						\$	-		\$	-
STORM DRAIN IMPROVEMENTS (Excepti	on: Permanent Pon	d/BMP shall	be iter	mized unde	er Section 1	)				
18" Reinforced Concrete Pipe	1,254	LF	\$	65.00	=	\$	81,501.16		\$	81,501.1
24" Reinforced Concrete Pipe	763	LF	\$	78.00	=	\$	59,513.45		\$	59,513.4
30" Reinforced Concrete Pipe	464	LF	\$	97.00	=	\$	44,991.51		\$	44,991.5
36" Reinforced Concrete Pipe	327	LF	\$	120.00	=	\$	39,215.88		\$	39,215.8
42" Reinforced Concrete Pipe	44	LF	\$	160.00	=	\$	6,986.56		\$	6,986.5
Flared End Section (FES) RCP Size = 18"	2	EA	\$	390.00	=	\$	780.00		\$	780.0
Flared End Section (FES) RCP Size = 24"	1	EA	\$	468.00	=	\$	468.00		\$	468.0
Curb Inlet (Type R) L=5', Depth < 5'	5	EA	\$	5,542.00	=	\$	27,710.00		\$	27,710.0
Curb Inlet (Type R) L=5', 5' ≤ Depth < 10'	3	EA	\$	7,188.00	=	\$	21,564.00		\$	21,564.0
Grated Inlet (Type 13 Valley),	7	EA	\$	4,640.00	=	\$	32,480.00		\$	32,480.0
Storm Sewer Manhole, Box Base	3	EA	\$ 1	1,627.00	=	\$	34,881.00		\$	34,881.0
Storm Sewer Manhole, Slab Base	18	EA	\$	6,395.00	=	\$	115,110.00		\$	115,110.0
Drainage Channel Lining, Concrete	971	CY	\$	570.00	=	\$	553,470.00		\$	553,470.0
Drainage Channel Lining, Rip Rap	198	CY	\$	112.00	=	\$	22,158.08		\$	22,158.0
Drainage Channel Lining, Grass	0.40	AC	\$	1,469.00	=	\$	587.60		\$	587.6
NATER SYSTEM IMPROVEMENTS										
Water Main Pipe (PVC), Size 8"	4,476	LF	\$	64.00	=	\$	286,491.52		\$	286,491.5
Water Main Pipe (Ductile Iron), Size 8"	563	LF	\$	75.00	=	\$	42,206.25		\$	42,206.2
Gate Valves, 8"	30	EA	\$	1,858.00	=	\$	55,740.00		\$	55,740.0
Fire Hydrant Assembly, w/ all valves	14	EA	\$	6,597.00	=	\$	92,358.00		\$	92,358.0
Water Service Line Installation, inc. tap and valves	16	EA	\$	1,324.00	=	\$	21,184.00		\$	21,184.0
Fire Cistern Installation, complete		EA			=	\$	-		\$	-
					=	\$	-		\$	-
[insert items not listed but part of construction plans]					=	\$	-		\$	-
SANITARY SEWER IMPROVEMENTS										
Sewer Main Pipe (PVC), Size 8"	3,239	LF	\$	64.00	=	\$	207,276.54		\$	207,276.5
Sanitary Sewer Manhole, Depth < 15 feet	19	EA	\$	4,386.00	=	\$	83,334.00		\$	83,334.0

PROJECT INFORMATION								
Solace Apartments	11/25/2020	2000-5174.00						
Project Name	Date	PCD File No.						

				Unit				(with Pre	-Plat	Construction)
Description		Quantity	Units	Cost			Total	% Complete		Remaining
Sanitary Service Line Installati	on, complete	16	EA	\$ 1,402.00	=	\$	22,432.00		\$	22,432.0
Sanitary Sewer Lift Station, co	· · ·		EA		=	\$	-		\$	-
					=	\$	-		\$	-
[insert items not listed but part	of construction plans]				=	\$	-		\$	-
ANDSCAPING IMPROVEMEN	ITS (	For subdivision spe	ecific condition	of approval, or	PUD)					
			EA		=	\$	-		\$	-
			EA		=	\$	-		\$	-
			EA		=	\$	-		\$	-
			EA		=	\$	-		\$	-
			EA		=	\$	-		\$	-
- Section 3 is not subject to defect wa	rranty requirements		Sectio	n 3 Subtotal	-	\$	3,100,859.39		\$	3,100,859.3
· · · · · · · · · · · · · · · · · · ·	rovements inc. Permanent Wo inc. elevations and volume ca Please include	lculations)	LS				uction Financia		_	3,889,574.7
		Total Remain	-	uction Finan	cial Ass	urance (	s-builts and pond/Bl with Pre-Plat Cos- s-builts and pond/Bl	onstruction)	\$	3,889,574.7
		(0)	00/ of all itams	a identified as (*			arranty Financia		\$	147,716.3

Approvals	
hereby certify that this is an accurate and complete estimate of costs for the work as shown	n on the Grading and Erosion Control Plan and Construction Drawings associated with the Project.
Engineer (D.E. Coal Dequired)	
Engineer (r.c. Sear Requireu)	
Approved by Owner / Applicant	Date
Approved by El Paso County Engineer / ECM Administrator	Date
Engineer (P.E. Seal Required)  Approved by Owner / Applicant  Approved by El Paso County Engineer / ECM Administrator	Date